P= 13C.CCO T=

15000.

C-47

N1=2.90250F 1& N2=4.11250F 1S N3=3.90247E 18 N4=1.66361E 13 N

B8
0.
500.
10C0,
2500.
50CQC.
75C0.
100C0.
25CC0.
50000.
1C0000.
150000.

P= 1C0.C3C T=

B
Q.
5C0.
10CD.
2500.
5000.
75C0.
10000.
250CQ.
50CC0.
1CC0C0.
1500C0.

CM-TAU SIG-1 SIG-2 DT-1 DT-2 LAM-1
0.0CE-C1 8.58E 01 0.C0E-O1 2.09E-07 0.C0E-01 1.36E
-5.68E-04 B8,58E 01 6.30E-02 2,09€-07 2.15E-10 1.36E
-l.14E-C3 E€.58E C 1.26E-01 2.09E-07 4.30E-10 1.36E
~2.84E-C3 8.58E 01 3.15E-01 2,09E-07 1. 07E-09 1.36E
-5.68E~03 8.58E 01 6.30E-01 2.09E-07 2.15E-09 1l.36E
-8.52E-C3 8.58E J1 9.46E-01 2.09E-07 3.22E-09 1.26E
-1.14E-02 8.57E 01 1.26E 00 2.09E-07 4.30E-09 1.36E
-2.84E-C2 8.56E 01 3.15E 00 2.09E-07 1.07E-08 1.36E
-5.€8E-C2 €.53E 01 6.27E 00 2,07E-07 2.14E~08 1.35E
-1.14E-C1 8.39E 01 1.23E Cl 2.02€E-07 4,19E-08 1.35E
-1.7C0E-C1 8.17E 01 1.80E 01 l. 94E-0Q7 6.08E-08 1.33E
16000. NTUT=4.59E 19 DEBYE=3.69E-07 LAMBDA=1.41lE 01
N1=5.58795E 18 N2=2,46G560E 19 N3=5.58780E 18 N4=7.52024E 13 N
Cv-TAU SIG-1 SIG-2 DT=1 DT=2 LAM-1
0.CCE~C1 1.05E 02 0.00E-01 3.18E-07 0.00E-01 1.86E
-4,7CE-C4 1.05E 02 6.63E-02 3.18E-07 2.8TF-10 1.86E
-G6.3GE-C4 1.05E 02 1.33E-01 3.18E-07 5.73E-10 1.86E
-2.35E-03 1.05E 02 3.32E-01 3.18E-07 1.43E-09 1.86E
-4,70E-C3 1.05E 02 6.63E-01 3.18E-07 2.87E-09 1.86E
-7.04E-03 1.C5E 02 9.95E-01 3.18E-07 4.30NE-C9 1.86E
-9.39E-03 1.05E 02 1.33E 00 3.18E-07 5.73E-09 1,86F
-2.35E-C2 1.05€E 02 3.31E CO 3.18E-07 1.43E-08 1.86E
-4,7CE=-C2 1.C4E 02 6.60E 0O 3.16E-07 2.,85E-08 1.86E
-9,39E-02 1.03E 02 1.30E Cl 3.10E-07 5.62E-08 1.85E
-l.41E-C1 1.01E 02 1.92E Ol 3.00E-07 B8.21E-08 1.84E
17000. NTOT=4.32E 1S DEBYE=3,30E-07 LAMBDA=1.34E 01

F= 100.000 T=

8
0.

500.
11CO.
25C0.
5000.
75C0.
10000.
25000,
£GCCO0.
100000.
150GC0.

P= 100.000 T=

B
0.
500.
10C0.
25C0.
5000.
75C0.
10000.
25C000.
50000.
1C0000.

NTOT =4.89E 19 DEBYE=4.28E-07 LAMBDA=1.54E C1 LNLMBD=

2.73
LAM-2

01 N.COE-01
01 5.82E-03
01 1.16E-02
0l 2.91E-02
01 5.82F-02

1 8.73E-02
01 1.16E-01
01 2.91E-01
0l 5.81E-01
N1 1.15E 00
01 1.71F 00
LNLMBD= 2.65

LAM-2

01 0.00E-01
01 7.46E-03
01 1.49E-02
01 3.73E-02
01 7.46E-02
01 1.12E-01
01 1.49F-01
01 3.73E-01
01 7.45E-01
01 1.48E 00
01 2.20E 00

LNLMBD= 2.60
N1=T7.44408E 18 N2=2.€2856E 19 N3=T7.44352E 18 N4=2.82799E 14 N5=6.28234E 05

CM-TAU SIG-1 SIG-2 DT-1 DT-2 LAM-1 LAM-2
0.CCE-C1 1.24E 02 0.00E-01 4.51E-07 0.00E-01 2.45E 01 0.00E-0C1
-4,C5E-C4 1.24E 02 7.03E-02 4.51E-07 3,71E-10 2.45E 01 9.40E-03
-8.1CE=C4 1.24E 02 1.41E-01 4.51E-07 7.42E-10 2.45E 01 1.88E-02
=2.02E-C3 1.24E 02 3.52E-01 4.51E-07 1.86E-09 2.45E 01 4.70E-02
-4,05E-03 1.24E 02 7.03E-01 4.51E-07 3.7T1E-09 2.45E 01 9.40E-02
~-6.C8E-C3 1.24E 02 1.05E 00 4.51E-07 5.57E-09 2.45E Ol 1.41E-01
-8.1CE-C3 1.24E 0Z 1l.41lE €O 4.51E-07 7.42E-09 2.45E 01 1.88E-01
-2.03£-02 1.24E 02 3.51E 00 4.5CE-Q7 1.85E=-08 2.45E 01 4.790E-01
-4 .C5E-02 1.23E 02 7.01lE 00 4.48E-07 3.70E-08 2.44E 01 9.38E-01
-8.10E-02 1.22E 02 1.39E 01 4.41E-07 7.30E-08 2.43E 01 1.87E 0O
-1l.22E-C1 1.20E 02 2.05E 01 4.29E-07 1.07E-07 2.41E Q1 2.77€ 00
1800C. NTOT=4.08E 19 DEBYE=3,04E-07 LAMBDA=1.31E 01 LNLMBD= 2.57
N1=S.27943E 18 N2=2.22170E 19 N3=9.27761E 18 N4=9.07022E 14 N5=8.78805E 06
OM-TAU SiG-1 SIG-2 DT-1 DT~2 LAM=-1 LAM-2

0.00E-01 1.43E 0z 0.00E-01 6.04E-07 0.00E-01 3.10E 01 0J.00E-0C1
-3.66E-C4 1.43E 0z 7.57E-02 6. 04E-07 4,73E-10 3.10E 01 1.17E-02
-7.31E-C4 1.43E 02 1.51E-Cl 6.04E-07 9.4TE=10 3.10E 01 2.34E-02
-1.82E-C3 1.43E 02 3.79E-01 6.04E-07 2.37E-09 3.10E 01 5.86E-02
-3.66E-03 1.43E 0z 7.57E-01 6.04E-07 4,73E-09 3,10E 01 1.17E-01
~5.48E-C3 1.43E 02 1.14E 00 6.04E-07 7.10E-09 3.10E 01 1.76E-01
-7.21E-C3 1.43E 0z 1.51E 00 6. 04E-07 9.46E-09 3.10E 01 2.34E-01
-1.83E-C2 1.42E 02 3.78E G0 6.04E-07 2.36E-08 3.10E 01 5.85E-01
-3.66E-02 1.42E 0Z 7.55E 00 6.01E-07 4.,71E-08 3.09E 01 1.17E 00
-7.31€-02 1.41E 02 1.50E Ol 5.92E-07 9.32E-08 3.08E 01 2.33E 00
-1l.1CE-C1 1.39E 02 2.21E 01 5.78E-07 1.376E-07 3.05E 01 3.46E 00

150Q0€CC.




P= 100.000 T=

150CC.

C-48

NTOT=3.86E 1S DEBYE=2.88E-07 LAMBDA=1.31E Ol LNLMBD= 2.57

N1=1.CBSSTE 1S N2=1.68321E 19 N3=1.C8946E 19 N4=2.53648E 15 N5=9,30658E 07

B
Q.
5C0.
10¢0.
25C0.
50C0.
7500,
10000.
25000.
5¢000.
10C0C0.
150000.

P= 100.000 7= 20000.

OM-TAU

0.CCE-Q1
-3.43E-04
-6.86E-04
=1s11E=C3
-3.43E-03
=5.14E-03
-6.86E-C3
=-l.71E-C2
=3.43E-C2
-6.86E-C2
-1.02E-01

Si6=1

l1.61E
1.61E
1.61E
1.61E
1.61E
1.61E
1.60E
1.60E
1.60E
1.59E
1.57E

02
02
02
02
02
02

SIG-2
0.0JE-01
8.26E-02
L.65E-01
4.13E-01
8.26E-01
1.24E 00
1.65E 00
4.13E 00
8.24E 00
1.63E 01
2.42E 01

D=1
T.T4E-0Q7
T.74E-07
T.T4E-07
T.74E-07
T.74E-07
T«74E-07
T.74E-07
7.73E-07
7.70E-07
TsBIE=0T
T.40E-07

Dili=¢.
0.00E-01
5.96E-10
1.19E-09
2.98E-09
5.95E-09
8.93E-09
1.19E-08
2.97E-08
5.93E-08
1.17E-07
1sT3E=07

NTOT=3.67E 19 DEBYE=2.80E-07 LAMBDA=1.34E 01l

LAM-1
3.78E 01
3.78E 01
3.78E 01
3.78E C1
3.78E 01
3« T8E 01
3.78E 01
3.78E 01
3.78E 01
3.76E 01
3. 03E 01

LAM-2
0.02€E-01
10445‘02
2.88E-02
7.20E-02
l.44E-01
2.88E-01
7.20E-01
l.44E 00
2.86E 00
4.,25€E D0

LNLMBD= 2.69

N1=1.21572E 16 N2=1.238G5E 19 N3=1.21445E 19 N4=6.30807E 15 N5=7.77575E 08

B
C.
500.
1000.
2500.
5000.
75C2.
10000.
250C0.
500C0.
100000.
150000.

F= 100.000 T= 21000.

CM-TAU

OQOCE-CI
=3s32E=C4
-6.66E-04
-1066E-03
=3933E=03
-4,5GE-C3
=1les66E~02
=3432E=02
-6.66E-02
-9.G%E-C2

Sic=1
l.77E
1.77E
1.77E
1.77E
1.77E
1.77E
1.77E
1.77E
1.77E
1.75E
1.73E

02
0z
92
02
0z
02
c2
02
02
02
02

516=2
0.00E-01
9.11E~-02
1.82E-01
4.56E-01
1.37E 0O
1.82E CO
4.55E 00
9.08E 00
1.80E 01
2.66E 01

DT-1
9.51E-07
9.51E-07
9.51E-07
9.51E-07
9.51E-07
9.51E-07
9.51E-07
9.50E-07
9.33&-07
9. 10E-07

DT-2
0.00E-01
7039E-10
1.48E-09
3.70E-09
T+ 39E-09
1.11£-08
1.48E-08
3.69E-08
T.36E-08
1.45E-07
2.14E-07

NTOT=3.49€ 1S DEBYE=2.77E-07 LAMBDA=1,39F 01

LAM-1
4.48E 01
4.48F 01
4.48E 01
4.48E 01
4.48E 01
4.48E 01
4.48E 01
4.48E N1
4.47E 01
4.45E 01
4.41E 01

LAM=2
0.09E-01
l.75E-02
3.50E-02
8.75E-02
1.75E-01
2.62E-01
3.50E-01
8.74E-01
1.75€E 00
3.47E 00
5.16E 00

LNLMBD= 2.63

N1=1.30C86E 1S N2=8.S4699E 18 N3=1.29802E 19 N4=1.42141F 16 N5=5.31458E 09

B
0.
500.
10C0.
25C0.
5000.
75C0.
10000Q.
250C0.
50000.
100000.
150000.

F= 100.000 T=

CM-T AU

0.0CE-01
-3.33E-C4
=6 ,65E-04
=-1l.66E-C3
=3ec3t=03
-4 .,S9E-C3
=6.65E-03
-1.66E-02
=3.33E-0C2
-9.S8E-0z

22000, .

S1G=1
1.93€
1.93E
1.93E
1.S3E
1.93E
1.93E
1.93E
1.93E
1.52E
1.91E
1.88E

S1G=2
0.00E-C1
1.02E-01
2.03E-01
5.08E-01
1.02E 00
1.52E 00
2.03E 09
5.08E €O
1.01E 01
2.01E 01
2.96E 01

D=1
1.13E-06
1.13&'06
l.13E-06
1.13E-06
1.13E-06
1.13E-06
1.13E-06
l.13E-06
1.13E-06
1.11E-06
1.08E~-0o

DT-2
0.00E-C1
9.09E~-10
1.82E-09
4.54E-09
9-09E-09
1.36E-08
1.82E-08
4054E-08
9.05E-08
1.79E—07
2.62E-07

NTOT=2,34E 19 DEBYE=2.79E-07 LAMBDA=1.47E 01

LAM-1
5.16E 01
5.16E 01
5.16E 01
5.16E 01
5.16E 01
5.,16E 021
5.16E 01
5.16E C1
5«15E 0]
5.12E 01
5.08E 01

LAM=-2
0.00E-01
2.09E=-02
4.18E-02
1.05e-01
2.09E-01
3.14E-C1
4.18E-C1
1.04E 00
2.09€ 00
4.15E 00
6.16E 00

LNLMBD= 2.69

N1=1.34844E 1S N2=€.42205E 18 N3=1.34254E 19 N4=2.94873E 16 N5=3.06340F 10

B
0.
5C0.
1000.
25C0.
5000.
15C0.
100C0.
25000,
50C00.
1000C0.
1500¢CQ.

CM-TAU

0.CCE-01
-3.4CE-C4
-6 .80E-0C4
=1.7CE-C3
=35 40E=03
-5.10€-C3
-6.8CE-03
-1.7CE-C2
-3.40E-02
-6.80E-02
-1.C2E-01

SIG-1
2.07E
2.07E
2.07E
2.07E
2.C7E
2.07E
2.C7E
2.07E
2.06E
2.04E
2.01E

02
02
02
02
02
02
02
02
02
02
02

SIG-2
0.00E-C1
1.13E-01
2,27E-01
5.67E-01
l.13E CO
1.70€ 00
2.27E 00
5.67E 00
1.13E 01
2.24E 01
3.30E 01

DT-1
1.32E-06
1.32E-06
1.32€E-06
1.32E-06
1.32E-06
1.32E-06
1.32E-06
1.31E~-06
1.31E-06
10285-06
1.25E-06

0i=2

0.GOE-C1
1.19E-09
2. 20E-09
5.51E-09
1.10E-08
1.65E-08
2.20E-08
5.50E-08
1.10E-07
2.165-07
3.17E-07

LAM-1
5.83E 01
5.83E 01
5.83E 01
5.83E 01
5.83c 01
5.83E 01
5.83E 01
5.83E 01
5.82E 01
5.79E 01
5.73E 01

LAM=-2
0.,00E-01
2 «48E-0C2
4.96E-02
]. . 24E-01
2.48F-01
3.72E-01
4096E-01
l.24t 00
2.48FE 00
4.92E 00
T7.29E 00



